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1. (a) ÈÛé̃ ÛÛ¨Û ÈÛèÜ±ù …é¤øÅÛé ÉÛä× ? ÈÛé̃ ÛÛ¨Û ÈÛèÜ±ù ³ùÛÁõÛ ÉÛä× ÐüÛ×ÍÛÅÛ ïõÁõà ÉÛïõÛýÛ ™öé ? ÍÛ¾Û›ÛÈÛÛé. 7 

  What is Sales Promotion ? What would you achieve through sales promotion ? 

Explain. 

 (b) ïõÛŠ¶¤øÁõ ¸ÛÁõ ïõÛ¾Û ïõÁõ©ÛÛ ÍÛéÅÍÛ¾Ûé¶Û ³ùÛÁõÛ ÈýÛÜî©Û•Û©Û ÈÛé̃ ÛÛ¨Û¶Ûà ïõÛýÛÙÈÛÛÐüà ÍÛ¾Û›ÛÈÛÛé. 7 

  Explain the procedure of personal selling of salesman working on counter. 

     …¬ÛÈÛÛ/OR 

 •Û¾Ûé ©Ûé ¼Ûé ÜÈÛÌÛé ÅÛ”ÛÛé : 

 Write any two : 

 (1) ÐüÁõàºõÛˆÅÛ“Ûà Ýïõ¾Û©Û ¶ÛàÜ©Û 

  Competition oriented pricing policy. 

 (2) …ÍÛÁõïõÛÁõïõ ÍÛéÅÍÛ¾Ûé¶Û¶ÛÛ •Ûä̈ ÛÛé 

  Qualities of effective salesman. 

 (3) ¾ÛÛïëõÝ¤ø•Û ÍÛ×ÉÛÛéµÛ¶Û¶Ûä× ¾ÛÐü«ÈÛ 

  Importance of Marketing Research. 

 (4) ›÷¶ÛÍÛ×̧ ÛïÙõ¶ÛÛ …Ûé›ÛÁõÛé 

  Tools of Public Relation. 

 

2. (a) …Û×©ÛÁõàïõ ïõ¤øÛéïõ¤øà …é¤øÅÛé ÉÛä× ? ÜÈÛÜÈÛµÛ ¸ÛóïõÛÁõ¶Ûà …Û×©ÛÜÁõïõ ïõ¤øÛéïõ¤øà¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7 

  What is Internal Crisis ? Discuss various types of production control process. 

 (b) Š©¸ÛÛþù¶Û …×ïäõÉÛ …é¤øÅÛé ÉÛä× ? Š©¸ÛÛþù¶Û …×ïäõÉÛ¶Ûà ¸ÛóÜ’õýÛÛ¶ÛÛ ¸ÛóïõÛÁõÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7 

  What is Production Control ? Discuss the types of production control process. 

…¬ÛÈÛÛ/OR 

 (a) ¸ÛÁ×õ¸ÛÁõÛ•Û©Û ¾ÛÛïëõÝ¤ø•Û …¶Ûé ˆ-¾ÛÛïëõÝ¤ø•Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé. 7 

  Explain the difference between Traditional marketing and E-marketing. 

 (b) Ýïõ¾Û©Û Ü¶ÛµÛÛÙÁõ¨Û …é¤øÅÛé ÉÛä× ? Ýïõ¾Û©Û Ü¶ÛµÛÛÙÁõ¨Û¶ÛÛ Ðéü©Ûä…Ûé ›÷¨ÛÛÈÛÛé. 7 

  What is pricing ? Explain the objectives of pricing. 
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3. (a) “µÛ×µÛÛ¶Ûà ©ÛÁõÅÛ©ÛÛ ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà ¸ÛÁõ …ÛþùÛÁõà©Û ™öé.” – …Û ÜÈÛµÛÛ¶Û ÍÛ¾Û›ÛÈÛÛé …¶Ûé ïõÛýÛÙÉÛàÅÛ 
¾Ûæ¦øà¶ÛÛ ½ÛÛ•ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7 

  “The liquidity of business is based on working capital.” Explain the statement and 

discuss the components of working capital. 

 (b) ¶ÛÛ¨ÛÛ×ïõàýÛ ÍÛ×̃ ÛÛÅÛïõ¶Ûà ½ÛæÜ¾ÛïõÛ ˜Û˜ÛÛë. 7 

  Discuss – The role of Financial Manager. 

…¬ÛÈÛÛ/OR 

 (a) ¾Ûæ¦øà ¾ÛÛÇ”ÛÛ¶Ûà Áõ˜Û¶ÛÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7 

  Discuss the factors affecting formation of capital structure. 

 (b) ¾Ûæ¦øàïõÁõ¨Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé. …Ü©Û¾Ûæ¦øàïõÁõ¨Û¶ÛÛ ÍÛ×›Ûé•ÛÛé …¶Ûé ©Ûé¶Ûà …ÍÛÁõÛé ˜Û˜ÛÛë. 7 

  Explain the meaning of Capitalization. Discuss circumstances and impact of over 

Capitalization. 

 

4. (a) ¼ÛóÛÝ¶¦ø•Û …é¤øÅÛé ÉÛä× ? ¼ÛóÛÝ¶¦ø•Û …×•Ûé ¾ÛÐü«ÈÛ¶ÛÛ Ü¶Û¨ÛÙýÛÛé ›÷¨ÛÛÈÛÛé. 7 

  What is Branding ? Discuss important decision regarding branding. 

 (b) (i) …ÛÜþù©ýÛ ÜÅÛ. ¶ÛÛ ˆÜîÈÛ¤øà ÉÛéÁõ¶Ûé ÅÛ•Û©Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé. 4 

    ÉÛéÁõ¶Ûà ¾ÛæÇ Ýïõ¾Û©Û ` 10, …¸ÛéÜ“Û©Û Ü¦øÜÈÛ¦×ø¦ø¶ÛÛé þùÁõ 16%, ÉÛéÁõ¶Ûà ¼Û›ÛÁõ Ýïõ¾Û©Û ` 32, 

    ïõ¾ÛÛ¨Ûà¶ÛÛé ÈÛèÜ±ù þùÁõ 8% 

    ˆÜîÈÛ¤øà ÉÛéÁõ¶Ûà ¾Ûæ¦øà ¸Û¦ø©ÛÁõ ÉÛÛéµÛÛé. 

    Find out the cost of capital of equity share 

    The information of equity share of Aditya Ltd. is as follows : 

    Face value of share ` 10 Market value of share ` 32 

    Estimate rate of dividend 16% Growth rate of earning 8% 

    Find out the cost of capital of equity share 

  (ii) ¸Ûä¶Û¾Û ÜÅÛ. ` 100¶ÛÛé ©ÛéÈÛÛ 11%¶ÛÛ 1000 ÜÁõ¦øà¾Ûé¼ÛÅÛ Ü¦ø¼Ûé¶˜ÛÁõ 2% ÈÛ¤øÛÈÛé ¼ÛÐüÛÁõ ¸ÛÛ¦øÀÛ 
™öé. ›÷é¶ÛÛ ¶ÛÛ¨ÛÛ× 15 ÈÛÌÛÙ ¸Û˜Ûà ÍÛÁõ½ÛÁõÝïõ¾Û©Ûé ¸ÛÁõ©Û ïõÁõÈÛÛ¶ÛÛ ™öé. Ü¦ø¼Ûé¶˜ÛÁõ ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ¶ÛÛé 
”Û˜ÛÙ ` 1000 ¬ÛýÛÛé. ïõÁõÈÛéÁõÛ ¶ÛÛé þùÁõ 60% ™öé. Ü¦ø¼Ûé¶˜ÛÁõ¶Ûà ¾Ûæ¦øà ¸Û¦ø©ÛÁõ ÉÛÛéµÛÛé. 3 

   Poonam Ltd. Has issued 1000 of redeemable debentures of ` 100 each of 

11% at a discount of 2% which will be redeemed after 15 years. The expenses 

of issue of debentures are ` 1,000. Rate of taxation is 60%. Find out the cost 

of capital of debenture. 

…¬ÛÈÛÛ/OR 
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 (a) ÉÛÜÉÛ¶Û ÜÅÛ. …¶Ûé …¸Û¨ÛÛÙ ÜÅÛ. ¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé. 7 
 ÉÛÜÉÛ¶Û ÜÅÛ. 

`̀̀̀ 

…¸Û¨ÛÛÙ ÜÅÛ. 
`̀̀̀ 

` 10 ¶ÛÛé ©ÛéÈÛà ˆÜîÈÛ¤øà ÉÛéÁõ ¾Ûæ¦øà 5,00,000 3,00,000 

10% ¶Ûà ¸ÛóéºõÁéõ¶ÍÛ ÉÛéÁõ ¾Ûæ¦øà     – 1,00,000 

10% ¶ÛÛ Ü¦ø¼Ûễ ÛÁõ     – 1,00,000 

ÈýÛÛ›÷ …¶Ûé ïõÁõ ¸ÛÐéüÅÛÛ¶ÛÛé ¶ÛºõÛé 1,00,000 1,00,000 

  ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 60 ¤øïõÛ ™öé. ¼Û·Ûé ï×õ¸Û¶Ûà¶Ûà ˆîÈÛÜ¶Û¤øà ÉÛéÁõþùà¥ø ïõ¾ÛÛ¨Ûà ÉÛÛéµÛÛé. ˆÜîÈÛ¤øà 
ÉÛéÁõÐüÛéÅ¦øÁõÛé¶Ûà ´ùÌ¤øà…é ïõˆ ï×õ¸Û¶Ûà¶Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û ÈÛµÛä ÍÛÛÁõà ™öé ? ÉÛÛ ¾ÛÛ¤éø ? 

  The particulars of Shashin Ltd and Aparna Ltd are as under : 

 Shashin Ltd.  

`̀̀̀ 

Aparna Ltd. 

 `̀̀̀ 
Equity share capital of ` 10 each 5,00,000 3,00,000 

10% Preference share capital     – 1,00,000 

10% Debentures     – 1,00,000 

EBIT 1,00,000 1,00,000 

  The rate of taxation is 60%. Find out earning per equity share of both company. 

Which company’s position is better according to equity shareholders ? Why ? 

 (b) ›ÛÐéüÁõÛ©Û …¶Ûé ¸ÛóÜÍÛÜ±ù ÈÛ˜˜Ûé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé.  7 
  How would you distinguish between according advertisement and publicity ? 

Explain. 
 

5. (a) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ”Ûæ¼Û›÷ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé. (•Û¾Ûé ©Ûé ªÛ¨Û) 3 
  Give answers in brief for following questions : (any three) 

  (i) ¸ÛÛ¨ÛàýÛäî©Û ¾Ûæ¦øà …é¤øÅÛé ÉÛä× ? 
   What is Watered Capital ? 

  (ii) ÜÅÛÈÛÁéõ›÷ …é¤øÅÛé ÉÛä× ? 
   Give the meaning of Stock Dividend 

  (iii) µÛ×µÛÛ¾ÛÛ× ÁõÛéïõ¦ø¶Ûà ïõ¤øÛéïõ¤øà ïõÛé¶Ûé ïõÐéüÈÛÛýÛ ? 
   What is Leverage ? 

  (iv) Í¤øÛñïõ Ü¦øÜÈÛ¦×ø¦ø¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé. 
   What is Cash crises in business ? 

 (b) ¶Ûà˜Ûé¶ÛÛ ¸ÛþùÛé ÍÛ¾Û›ÛÈÛÛé. (•Û¾Ûé ©Ûé ªÛ¨Û)  3 
  Explain the following terms : (any three) 

  (i) ˆ¶¤øÁõ¶Ûé¤ø 
   Internet 

  (ii) ¤Öéø¦ø¾ÛÛïÙõ 
   Trademark 

  (iii) …Å¸Û¾Ûæ¦øàïõÁõ¨Û 
   Under Capitalisation 

  (iv) ¼ÛÛÁõà ¸ÛóþùÉÛÙ¶Û 
   Window Display 

  (v) ›÷¶ÛÍÛ×̧ ÛïÙõ 
   Thick Equity  

  (vi) ¬ÛàïõˆÜîÈÛ¤øà 
   Public Relation 
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 (c) ‘…’ ¾ÛÛ¤éø ‘¼Û’ ¾ÛÛ×¬Ûà …¶ÛäÄõ¸Û ÜÈÛµÛÛ¶Û ÉÛÛéµÛÛé.  2 
       A B 

(1) ˆ¶¤øÁõ¶Ûé¤ø (1) ïõÛé̂  ÈÛÍ©Ûäïéõ ÍÛéÈÛÛ …×•Ûé ÍÛæ̃ Û¶ÛÛ …Û¸ÛÈÛà 

(2) ¸ÛóÜÍÛÜ±ù (2) ÜÈÛÜÉÛÌ¤ø ÈÛé¼Û-ÍÛÛˆ¤ø 

(3) ÍÛ˜ÛÙ …éÜ¶›÷¶Û (3) ¸Û¦ø©ÛÁõ ¾Ûäî©Û 

(4) ›ÛÐéüÁõÛ©Û (4) ÜÈÛÉÈÛÈýÛÛ¸Ûà ïõÛñ¾¸ýÛä¤øÁõÛé¶Ûä× ¶Ûé¤øÈÛïÙõ 

  Find proper statement ‘B’ for ‘A’ : 

       A B 

(1) Internet (1) Give instruction for product or service 

(2) Publicity (2) Specific website 

(3) Search Engine (3) Cost free 

(4) Advertisement (4) Network of worldwide computer 

 (d) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé¶Ûà ”Ûæ¼Û›÷ ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. (•Û¾Ûé ©Ûé ªÛ¨Û) 6 

  Explain in brief the following statement : (any three) 

  (1) Š©¸ÛÛþù¶Û …ÛýÛÛé›÷¶Û …é Š©¸ÛÛþù¶Û …×ïäõÉÛ¶Ûà ¸ÛæÈÛÙÉÛÁõ©Û ™öé. 
   Production planning is a pre-condition of production control. 

  (2) …¶Û¸ÛéÜ“Û©Û ïõ¤øÛéïõ¤øà ÍÛÛ˜ÛÛ …¬ÛÙ¾ÛÛ× ÈÛÛÍ©ÛÜÈÛïõ ïõ¤øÛéïõ¤øà ™öé. 
   Unexpected crises are real crises in real sense. 

  (3) ˆ-¾ÛÛïëõÝ¤ø•Û ¸ÛÁõ •ÛóÛÐüïõÛé ÜÈÛÉÈÛÛÍÛ ïõÁõ©ÛÛ ¶Û¬Ûà. 
   Customers do not trust on E-Marketing 

  (4) ÁõÛ”Ûà ¾ÛäïéõÅÛ ïõ¾ÛÛ¨Ûà …é ¸Û¦ø©ÛÁõ¾Ûäî©Û ½Û×¦øÛéÇ ¶Û¬Ûà. 
   Retained earnings are not a cost – free fund. 

____________ 


